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Q1. For the signal y[n] = [5( ) — 2( ) ]y[n] Find the energy and power of the signal. Is it energy

wer signal? Justify your answer.
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y[n] = 4x[n] + 2x[n — 1] + 0.8y[n — 1]

1) Find the transfer function H (e/%).
2) Find yln] in a compact form if x[n] = (0.4)"u[n].
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Q4. If the impulse response of a system h[n] = (2)"Su[n — 5]. What can you tell about the following
properties of the system?

1) Linear or nonlinear.
2) Causal or noncausal.

3) Time invariant or time varying.
4) Stable or unstable.

Justify your answers.
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